
Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Polynoomuitbreiding

(x + 6)(3x + 1) + 2x + 3x − 52 2 (5x + 5)(x − 3)(6x + 2)

(6x + 2)(x + 5x + 5) + (3x − 4)(3x − 3)2 (5x − 5x − 6)(3x + 1) − 6 × 6x + 32

(5x + 2)(x − 6x − 6) − (6x + 1)(x − 1)2 5x − (5 + 6x)(2x − 2)(4x + 6)

(3x + x + 5)(5x + 6) − 2x − 42 (3x + 5)(2x − 5) + 4x + 6x + 62 2

(4x + 2)(6x − 5x + 1) + (3x − 5)(x − 5)2 (x + 4x + 4)(6x + 4) + 2 × 2x + 12
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Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Polynoomuitbreiding

(x + 6)(3x + 1) + 2x + 3x − 52 2

3x + 3x + 21x + 13 2

(5x + 5)(x − 3)(6x + 2)

30x − 50x − 110x − 303 2

(6x + 2)(x + 5x + 5) + (3x − 4)(3x − 3)2

6x + 41x + 19x + 223 2

(5x − 5x − 6)(3x + 1) − 6 × 6x + 32

15x − 10x − 59x − 33 2

(5x + 2)(x − 6x − 6) − (6x + 1)(x − 1)2

5x − 34x − 37x − 113 2

5x − (5 + 6x)(2x − 2)(4x + 6)

−48x − 64x + 57x + 603 2

(3x + x + 5)(5x + 6) − 2x − 42

15x + 23x + 29x + 263 2

(3x + 5)(2x − 5) + 4x + 6x + 62 2

6x − 11x + 16x − 193 2

(4x + 2)(6x − 5x + 1) + (3x − 5)(x − 5)2

24x − 5x − 26x + 273 2

(x + 4x + 4)(6x + 4) + 2 × 2x + 12

6x + 28x + 44x + 173 2
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